Name \A]‘E‘ u Date
J Topic 1 Finals Review
Multiple Choice: Select the best answer.
1. Which of the following equations is equivalent to 7 = prt
(Al It=pr B L2
d
@ Z=pt D] r=L
I 1
2. Solve the following equation for the unknown variable: %(6x -15)+5x=26
Hx 1O +5x =20
41 36 Ax=3L
A =— =4 C = — =4 (D =6
[Al x== ® « €l x> =4 «
3. Solve the following inequality: —2(x+3)<6x+10
- 2% - < Lx D
-\ &
[A] x<-2 B] x>-L W %X[q <—% ) x>-

-) <X

4. The sum of three consecutive even numbers is 54, what is the valu

!i'ms 19
AT Xe2 + X+4:=94 3
5. Jillian has saved $725 for her summer vacation and intends to spei

least $150 remaining for the last week of summer. Which inequal
Jillian can spend and remain within her budget?

@ 725-25w<150  [B] 725-25w <150 @ 72

6. How many solutions will the following equation have: —3(x —2) =

= 3%y

@nﬁn

Grid-In Response: Grid in your answer(s) in the provided gridded 1

[A] 16 (€]

[A] One solution [B] No Solution

For questions 7 and 8, Solve the following equation(s) for the unkn|

s

8. 4(x -
L
HX

A

Ix-% _
-—-%'—' = \D
1%=1= 90

.7.7\ ‘6(() Y= 7_q

0000000000
@800000000}@?@

le of the second even number in the set?
[D] 20

 Hp=54 3x=4¥ X7\
nd $25 per week. She would like to have at
ty represents the number of weeks, w, that

5—-25w=>150 [D] 725-25w>150
-2x+6-x

P = =Xty

itely many [D] Two solutions

response box

own variable:

B)=-2
1} =<2
= \D

=13

olo]olole]e]eloleTe O]
00000000008




Free Response:

9. Venetta buys 2 pounds of pecans and 3 po
cashews. She pays a total of $48. Identify hof

pecans costs. . ’P? e &ﬁ S UJ Q

ZX*%\j 4% \j'ﬁ"—\

20y Hﬂ*’b WEJ

2 B 13y L\%
10. Five frie ds all use $2 50 off coupons to
What is the full-price cost of one movie ticket?

5 (%-2.50) =5

Sy~ 12.90 =4

Ox=10

11. The equation for the volume of a right py

measure of the hase, w is the width, and, 4 is

a. Solve the equation for A 3 \] ~ ’%) k
2\ =}

b. If a right pyramid has a volumeof 60 cubi

the pyramid’s height?

2 (L0
2.0

12. Solve and graph the following inequalitie

7—3x<28
-2x <2\
X>-T1

a.

13. Mr. Santo Claws needs to buy special orn
ornaments and 3 copper ornaments. The cost
spends a total of $101, how much do the orna

K.0\05S . Coppey
==y

)

unds of cashews. The pecans cost $4 more per pound than the
ow much one pound of cashews costs, and how much one pound of

ASheWS Coshews B3

Syt ¥ =4¥
° %:L\D Pecans 812

buy themselves tickets to the movies. They spend a total of $57.50.

BH

51.50
1.0

\x: ‘L}

ramid is V =§b-w-h, where V is the pyramid’s volume, b is the
the height.

W \(\ = onw

c\l?n\{?g, a base measure of 2 units, and a width of 6 units, what is

s B

—
_—

wa

b. 5(=x—1)=10x-20
-F%-5 2 10x-20
\5 > \&x
} =%

2
s T

4

laments for decorating at a holiday party. He needs to buy 5 glass
of the copper ornaments is $7 more than the glass ornaments. If he

iments cost individually? ~ X¥7]
0SS
5% +2(x*71) =\0\ 5)\ d ;\D
=50 opRe

Xz 10D
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Topic 2 Finals Review

Multiple Choice: Select the best answer.

1. Select the linear equation that is perpendicular to the line y =-2x

[A] y=—2x-5 [B] y=—%x—5

&

1

)’=5

[C] y=2x-5 x-5

Date

+7 and has a y-intercept at (0,-5).

2. Write the equation for a linear equation in point slope form with a slope of —2 and passes through the point
(3,-4).
y+4=-2(x=3) [B] y-4=-2(x-3) [C] y+4=-2(x+3) [D] y-4=-2(x+3)
9-1
3. Calculate the slope of a line that passes through the points (1,7) and (5,19) éﬁ—-_. - %_ = 3
[A] 173 3 c] B D] 6
4. Genevieve has $90 to spend on ping pong paddles and ping-pong balls for her after-school club. Paddles
cost $6 and a set of ping pong balls cogt §3. Write an equation in standard form to model this scenario. Let x
represent the number of paddles and ly represent the number of balls.
[A] —6x+5y=90 [B] 5x+6y=90 [C] 6x+5y=-90 @ 6x+5y =90
L . : -3 3
5. Write a linear equation in slope intercept form that passes through the points (2,13) and (3,16) E_E = —
L \
[A] y=3x+13 @ y=3x+7 [C] y+2x+5 [D] y=x+9
6. Select the 2 equations that are represented in the graph below. =3 (53 o
3 : o =9 +b
[A]y=%x—3 @@y=—2x—3 1=

0

2-

]

| o,

@y—]=—2(x+2)

7. Write the equation of a line that passes through the point (-2,3) 4

SR
\515: —2CX

a

\

Free Response:

yi= %x +7 in point slope form. S\ Ope - Z

D] y+1:%(x—2)

ind is perpendicular to the line

4%

+2)




8. Biologists have discovered that the numbe

r of chirps some crickets make per minute is related to the

temperature outside. The relationship is linear. When crickets chirp 124 times, it is about 68 F. When they

chirp 172 times per minute, it is about 80 F.

a. Define your variables.
X Fiees evicxeds dnivp
Y Rmpgkyatove

c¢. Calculate the average rate of change

C\"J?_-\zq Hq
G0 oy 212

(8]

\

-—

d. Write the linear equation in point-slope form.

lj—to% =1 (x-124)

9. Graph each equation.

=
-

b. Identify the two given coordinate points.
Q) (172, %0)

). Interpret the meaning in the context of the problem.

- Ch‘anS v I°F

oY

N\
Y-85 =1 (x-\12)
L‘\js-?,\(.fqz

&
1 P Y=- 2RTL
a. y=——x+4 b. y+2=2(x-1) c. 2x+4y=8
3 4y 2 < -S4
_ﬁ\ ] i * p
= ) L :
1~ ] N
: Bk : \\’\
; . ’ 1 ~
0 T y P EEE RS 3 EEEEEEN ] 1
A -
: V£ =
_‘ ‘-q ¥

10. Use the graph below to answer the follow

el [ 7] a Whati

44
-t 3 b. What i
_5_1_}_'_;_5_'_;‘0 i
7654321;-1- C.Whatl
d. Write 1

e. Write an equation that is parallel to this lin

U-Y- =(x-3

ying questions.

s the slope of the line? é

s the y intercept? (D) ~ 2)

s the x-intercept? (

2,0)

the equation in point slope form.

Sweys YW\ Nav Y

e that passes through the point (3,4) .

)

p YT -5 (x+3)
Y= 3(x-3)




Topic 3 Finals Review

Multiple Choice: Select the best answer.

1. Which of the following equations best represents the line of best
the date shown in the figure.

[A] y =-2.4x+30
[C] y =—0.8x+40

[B] y=-12x+40

@] y=-0.4x+36

2. Which recursive rule best describes the sequence -5, -3, -1, 1, ...

-3

a

n-1

a= -5 a

[C]

a, =
[A]
a,= a,=a, + 2 a

~4

3. Which recursive rule best describes the sequence 3, 14, 25, 36, ...

a =11
[B]
a,=a, + 3

a=73
[A]
a,=a, +8

4. Which explicit rule best describes the sequence 7, 23, 39, 55, ...

@ a, =7+16(n-1)

5. Which r-value suggests a strong positive correlation?

[B] a, =23+7(n-1) [C] a,

[A] ¥ =0.17454 [B] r=-0.17454

®

fit of

Average Emails per Day

=a,  + 11

= 16+7(n-1)

r=10.9964

6. Which of the following sequences are arithmetic? Select ALL that apply

@—30, —40, —50, =60, ... ([B])35, 32,29, 26, ...

@-3, 123, —43, 63, ...

Emails per Day by Age

2 2 T
Age
o) 477
a,=a,  — 3
a =2
[D]
a =a, + 8

[D] a, = 7+23(n-1)

[D] r=-0.9626

[D]7, 14, 28, 56, ...




Free Response:

7. For each graph, state whether it is a function and discrete or continuous then state the domain and range of

each on the next page.
Discrete or Discrete or Continuous or Continuous
a. Function? W[ b. Function? g)%s c. Fu.nction?ja £S

.....»...

O

n W A& O

—({u (S

5@
S

5 -4 32 a1\]°1 2 3 4 5 5 -4 -2 0 4 3 4 5

-1 L .

i N, -2

2 i g

3 -3

4 b

-5 -5
Domain: —% « % <% Domain: -2 ¢ x 4 e Domain: 5 -3 -1,0,2,

< 3 <X )

Range:_c\_-)(:kﬁéf_-:j Range: _mL\jg_gj Range:i-\”g-\%

8. Given f(x) =2x—1, g(x)=x’, and the graph of h(x) evaluate each of the following.

|
a. f(-4) b. h(l)+2(2) | 3 AN }
2(-4)- \ 72 / /
5 214 /

5
c.x, wher%(x)=4 d. f(%e‘ h(3) // V

X=2 and xslp 27!+ 2 Bl |l
-\ +2 /
e.x,when f(x)=7 1=2x-) @
%= 1%
9. State whether each is m finction and then state the domain and range.

X |Y a. Function? \ﬁe% b. (1,3).(2.6).(0,6).(1,4)

1 3 Function? \\\D

33 : Domain: g -2 | fﬁ,"\\—lzﬁ Domain: Eo \ ‘7:%
76 . L2 .

7 g Range.%:%\t-\‘\‘p\\é:) Range: %B\L\l\ozb




Multiple Choice: Select the best answer.
1. Solve the systems of equations by graphing. y=2x-3

. Sarah has $25 dollars and earns $10 per week from tutoring. She wan

7. You need at least 3 pounds of fruit to make muffins. Blueberrie

Topic 4 Finals Review

summer. Write a linear inequality that represents this scenario, where
works.

10x+25 >120

[B]10x +25>120 [C] 104

pound, and you can spend at most $21 on fruit. Write a system

blueberries and y is strawberries.
X+

4x

[A]l x+y =3 [B] x+y<3

4x+3y 221 3x+4y =21

+3y<21

3
=——x+4
[Al -1 @& v
[C] (-2,-) [D] No Solution .
¢ -4 \ - .
. Solve the system of equations by substitution. y=-4x+1 5 }EE (_3 ;:3% ?_S ¢
8x+8y=8 ey
[A] (1,0) (11 ©.» [C1-L)  x-0 (DI LD
. Solve the system of equations by substitution. —=5x+6y =18 —|9(- Ty * 24) toy- )
x+8y =24 H0y -120 1 by =< 1§
? Hoy -’15; -
[A] (-L-D) (B] (-13) €O~ 97 (M ©3
X =-5(39r24
¥ ZO
. Solve the system of equations by elimination. —6x -7y =8
-8x<Ly=20
ST “14x-28
[A] (4,—4) (B 2% 2 ¢ D] (-2.4)
—le(-2)+y=§
) RS- o PR i
. Solve the system of equations by elimination. Bt h); =:93‘o - %+t4(9)=9
x—-10y=-24 -x¥g=q
[A]l (-1-2) [B] (1L-2) W@ty -x' o) 02
Y2 X=-|

ts to have at least $120 by the end of the
 x represents the number of weeks Caroline

r+25<120 [D] 10x +25<120

s cost $4 per pound, strawberries cost $3 per
of inequalities for this scenario, where x is

y=3 [D] x+y<3

3x+4y <21




Free Response:

8. Solve the systems of equations by graphing.

y:%x—2 y=§x+2

(’L‘\'L\)

9. Solve the system of equations by any method.

x+35y=4 > x=—5\j+‘-\

6x—Sy =24 ®=-G(0) +4
[p(-c_)\j u—\)_s\j =79 x=4
~30y +24- 5924 ('—\‘D)
-56\_\1:00

10. Solve the sysiem of equations by any method.

6x-6y=0 — ¥ -\Lw=0
2x+2y=7 — ‘ﬁ“‘%‘ -

O + 2\
No g6l

Hon

N

)
k]
H
i
s

- ji
Y

1
SR SRS SR ORI .

12. The senior classes at Issaquah and Skylinge planned separate trips to Portland. The senior class at Issaquah
kyline rented 4 vans and 12 buses with 780 students. Each van and

. Write and solve a system of equations to determine how many

X
Qa@‘m%g‘m‘s

5.5
3o

rented 1 van and 6 buses with 372 students. S
each bus carried the same number of students
students can fit in a van and how many studei

W ob=Z12 N =i
Uy 4120 218D N=-U(=)
V=\%

13. Which of these points are in the solution s
inequalities? (Select all that apply.)

y<—x-2 y<—%x+2

[A] 2, 1) [B] (-2, 0)

(10, -2) @(2, -3)

[E] (4, 4) [F] (4.0)

nts can fit in a bus.

¥37

set of the system of

A2 AL 12) H2L=150
~74b + 3% +\2o=1%0

—\2,=-108
=5

A

B

5




Topic 6 Finals Review

Multiple Choice: Select the best answer.
3.8

Simplify: X2 s 4 v

4x°y -~
4y° 4x72 2y°

[A] = [B1 =% O [D] 2x°y
2. Simplify: 10xp*s % x’y

3 9
A]57° %Y [B]5x%)° [C] 5%y ([DJ None of the above
3. Simplify: (4xp)(-2x"y)(3x'y’)

~94 ch \j—l 1
A] —24x"y° e —24x*y7 D] —9x*y’
[A] y Bl 527 © y [D] -9x*y
4. Simplify: 3x*
[A] x5/4 @ x4/5 [C] x [D] x9
5. Simplify: (5x°)°
[A] 5x° (By25x*)° [C] 25%° [D] 5x°)°
6. Given the function, f(x) = 3 - 1.12%, identify the growth/decay rate.
(AJ0.12% [B] 0.12% [C] 112% [D] 1.12%

\2°/,

7. Under perfect conditions a certain bacteria increases by 10% every day. When first measured a petri dish has
1000 bacteria. Which function represents the amount of bacteria after x days?

@ £(x)=1000(1.1)* [B] £(x)=1000(10)" [C] £(x)=10(1000)" [D] f(x)=1000(0.1)"

8. Find the common ratio for the geometric sequence 2, 8, 32, 128, ..

[A] =6 @r=4 [C] r=8 [D] r=2

9. Which exponential function represents the table of values?

x J0o |1 [z |3 [A] f(x)=53) @ F(x)=3(5)"
) |3 |15 |75 |375

[C] f(x)=5+10x [D] f(x)=5(15)"




Free Response:

10. Write an exponential function to represent the function graphed below.

f(x)
6B+
5
(~1,4)& 4+
3..
Ngo
% 10 1 2 3 4

11. Graph the exponential functions.

a) f(x)=(4)

AR

% -4 -2z 4 & 3

12. Tell whether each equation is true or false

a) (2x°)° =6x°
Fa\st

:%Xol

13. You invest $25,000 in an account that ge

FO)4(s)

X

b) £(x)= 2@)

T hd-H

B

R

4

LT i =t 13 |
& & R T

. If it is false, change the right side to make the equation true.
b) 2(3x%)! = -6x72
Talst 2
- %
= %

ts 12% annual interest.

a) Write an exponential function to represent the balance in the account after x years.

\9126000(\.\1)"

b) How much would you have in 10 years?

Y=25000(Y

\O

\2)

& Tialdia DO



